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Question Number : 1 Question Id : 3922664561 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The five rings on the Olympic flag represent

Five Continents of the world

Five Oceans of the world

Five ancient Olympic cities

The Five Elements (Panchabhutas) in nature

2RMR APIRIER 2l LT QR NLIg JoId
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Options :
1.1
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Question Number : 2 Question Id : 3922664562 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the comect sentences related to 101  satellite
launching by ISRO

a. EOS — 09 Satellite

b. PSLV - C6l1

& Agriculture, Forests. National Security

d. Successtully launched
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a.  EOS-09Qa9e

b.  PSLV-C6l
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Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 3 Question Id : 3922664563 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The first Governor General of Independent India 1s
1. Lord Mountbatten

2. C. Rajagopalachari

Lord William Bentick

(S ]

4. Warren Hastings
GI21Q LIACR Jelel rafa@a E@E0UMN At

1. Q@ AeeNIeeR
2. d. QAFEQIUIRIIN
3. Q0 GRKe 6Q4Q
4. Qe 62dFA

Options :
1.v1
2. % 2
3.% 3
4, % 4

Question Number : 4 Question Id : 3922664564 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the following

i, Peking a) Netherland
il Mesopotamia b) Beijing
111. Holland &) Iran
iv.  Persia d) Iraq
Jéll 9e° g2l QI¢1 42 A0 64Ig] L6 @9
i. 6&" a) 699yl
. 6Q6d6gIIFel b)  6Q&°
.  a@le c) QIR
iv. eadel d e
1. 1—a ii—b il — C v -d
2. i—Db ii—d il —a iv-c
3 i—b ii—d il —C 1V -a
4. i—d ii—b iii —a v-¢
Options :
1% 1
2.¥2
3.% 3
4.% 4

Question Number : 5 Question Id : 3922664565 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The authority to approve the state budget when it is under
President’s rule

[ The President
2 The Governor
3. The Parliament

4. The State Assembly
QAUYAG GIdQ 2RIIFEQ AURY QEEQ AFPEAYR QAR 2RI

Qi@ 2

1. QEae
2. QIR
3. Q9Q

4, QAR QUL

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 6 Question Id : 3922664566 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Chairman of Advisory Committee on Fundamental Rights
of the Constituent Assembly was

1. Jawaharlal Nehru
2. Vallabhbai Patel
3. B.N. Rao

4, B.R. Ambedkar
AR ARIQ 661RR ZYRIA AR G909 LNASN FETQ 2RI
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i QLRI 662
2. QREQIR J6eR
3. QNQ. Q6
4. Q.29 2ll6Fleaa
Options :
1. % 1
2.2

3.%3
4, % 4

Question Number : 7 Question Id : 3922664567 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The bonds issued by the World Bank in 2014 to support
infrastructural projects in India are

1. Samurai Bonds
2 Dimsumn Bonds
¥ Honey Bonds

- Masala Bonds
RAUAGER 6 JReq 6JIATC AR AN 202460 T4 NI

20l FIQ FANIRYS QYIS 6298
1. QYR Qg

2. QA9 Q4

3. 9QQg

4. 4Rl Q4

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 8 Question Id : 3922664568 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct pairs

a. Basava Puranam — Gonna Budda Reddy

b. Rajasekhara Charitham — Kandukuri Veeresalingam
¢ Dasarathi Satakam - Kancharla Gopanna

d. Chaduvu — Kodavatiganti Kutumbarao

d0R A8 5F' K9

a.  QIdQI gaudie] — 69IQ1 Q€1 6QE!
b.  QIEHSIQ 6Qer - RI9YAT FEQIMEIE]
C. Q02 A9R9 - QISIRI ECIIR

d 9199 - 6RIRPIRIGAIE Q9¢ll QI3

1. a.b.c
2 a, d
3. b.c.d
4 a, c

Options :

1. % 1

2. % )

3.¥3

4. % 4

Question Number : 9 Question Id : 3922664569 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The first National Security Advisor of India was
1. Shiv Sankar Menon

2. Brajesh Mishra

Ajith Doval

4. M.K. Narayana
QAN 9 dafl Qe 4ol ARG

1. 99 daa 69199
2. 96wd dg

3. gT0 69NN

4. 9616Q. QIS
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Options :
1. % 1
2.2
3.%3
4. % 4

Question Number : 10 Question Id : 3922664570 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct pairs
a. First Female Governer — Sarojini Naidu

b. First Chairman of National Woman Commission —
Jayanti Patnaik

& First Woman Chief minister — Sucheta Kripalini
d. First Female Fighter Jet Piolet — Avani Chaturvedi
d0® Qa9 98¢ @

a. geq Q901 QURIAIR — 6T Qg
b. Jeiel KIS N8R @A 2Igl — 998 dFRI9R
c.  gelsl ARal eaa! — 46001 U
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1. b.c.d
2 ¢,
3 a.d
4. a boe d
Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 11 Question Id : 3922664571 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The famous painting ‘Nair Lady’ was painted by
1. S.H. Raja

2. Jamini Roy

Raja Ravi Varma

4. Rabindranath Tagore

gd4®e 0@ 'Qldia 6me" 9QlEe @il QUw
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Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 12 Question Id : 3922664572 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The Defence Research and Development Organization’s
(DRDO) head quarter is at

1. Hyderabad
2. New Delhi
3. Chennai

4. Bengaluru _
Joosll 96QE4l B @Rl 2°6l0e (DRDO) Q €& QI

1. QeI

2. QuUQR
3. 6099
4. 6ReNRQ

Options :



1. %1
2.9 2
3.% 3
4. % 4

Question Number : 13 Question Id : 3922664573 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
The author of the book “The Kingdom of God is Within You’ is
1. Charles Dickens
2. Leo Tolstoy
Albert Emstein

fad

4, Maxim Gorky

‘The Kingdom of God 1s Within You’ g2q 6mel@
1. olndG6ag

2. QGoaala

NSO ARQIAR

4. Qg9 edl@
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Options :
1. % 1
2.2
3.%3
4. % 4

Question Number : 14 Question Id : 3922664574 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The ‘Pradhan Manthri SVANidhi’ scheme 1s for the economic
support of this group.

L. School Ayas

2. Government women employees
3, Street Vendor

4. Household Women

9@ 69191Q 206609 999l I ‘PM SVANidhi® 6<ISE!
QRN 62108 |
. SQYRG6Q QIdY RQ2Ql 2IKiF iR
2. deQIl f1@q Qi
3. dI@ 694
4. Q@4

Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 15 Question Id : 3922664575 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In India the Goods and Service Tax Council was constituted in
the year

AUAGER 92 G 97 B 6991 TR VATR FOR FAUIRER

L. 2012
2. 2016
3 2018
4. 2014
Options :
1. %1

2.2



3. % 3
4. % 4

Question Number : 16 Question Id : 3922664576 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

On December 28-29. 2024 the 6™ World Telugu Writers
Mahasabha was organized in this city

1. Rajahmundry
2, Tirupati

3. Visakhapatnam
4, Vijayawada

@6AEQ 28-29. 2024 6Q 9T ULAEQ VI §F o9 Cmoln
ALI4@l IS QUM

i QSIS
2. 0Que
3. QEIHIASE!
4. QEAGIC!
Options :
1. % 1
2. %)
3.% 3
4.9 4

Question Number : 17 Question Id : 3922664577 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



As per the “Beti Bachao Beti Padhao’ report for 2023-24. the
sex ratio at birth (SRB) has increased from 918 to

‘696 Q018 6Q% ALIG ACAIG 2023-24. AQUIN 8GR AGTIG
21QdIe (SRB) 918 Q 6@ Q& A0S |

1 950
2. 970
2. 930
4. 940

Options :

1. % 1

2.% 2

3.¥3

4. % 4

Question Number : 18 Question Id : 3922664578 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The new Governor of RBI appointed in December 2024 1s

1. B.V.R. Subrahmanyam

2 Madhabi Puri Buch
o Shaktikantha Das
4. Sanjay Malhotra
@6QCIQ 202469 Qﬂ@ 62Imelal RBIQ g% a[atla
1. @.@.EIIG;. gIeIsiie]
2. Al gl QIQ
3. deqlekqd
4, dEngl FlmeLIG
Options :
1. % 1
2. % 2

3.% 3



4.¥ 4

Question Number : 19 Question Id : 3922664579 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This country has become the World’s 3% largest smart phone
exporter as on December 2024 1s

1. England
2. Brazil

3. Iran

4 India

@64CQ 2024 9|1 G U1 QL8R I 6] RYGAIA!
6Q4

1. ng

2. QIaw

3. @QIQ

4. WA

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 20 Question Id : 3922664580 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



On 14 December 2024, the President of this country faced
Impeachment resolution

1. Taiwan
2. South Korea
3. North Korea

4. Thailand
@6AFQ 14, 2024 6Q 9L 69919 QLIS F1LINEIG LR

AYHIQ 6LIREEM

1. QREIQ

) QS 6R1Q2I
3. Qe 6exel

4. A9

Options :

1. %1

2.9 2

3.% 3

4. % 4

Section 2

Section Id : 392266150
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266150
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3922664581 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Viharas. monasteries are the educational centers of this time

1. Jain period
2. Buddist period
3 Modern period

4, British period

QLIQ B F10 6LAE 9EG AR IFERY
1. 65940

2. 6Qle gs

3. ARG g9l

4. Q09 4I9e QI

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 22 Question Id : 3922664582 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“*Philosophy is Science’’ said by
1. Cicero
2. Aristippus

Rousseau

4, Fiche

“QIREIY @ ARIQ 691R KL2I6R

[N

1. ddeal

2. 20|Qa19

3. Q6dl

4.  &6Q
Options :

1. %1



2. %2
3.% 3
4.9 4

Question Number : 23 Question Id : 3922664583 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Eswaribhai Patel Committee suggested that the teaching
and learning of SUPW should take place in this number of
stages

SUPWQ 441 8 SQ1919 98 <°Hia L6 6991 960 6910

AYAIRNIR TR R YOIRES
1. 4
2. 5
3. 2
4. 3
Options :
1. %1
2.% 2
3.% 3
4. 4

Question Number : 24 Question Id : 3922664584 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



NEP - 2020 has announced that model government
universities that can provide education on par with IITs and
ITMs will be called by this name.

IIT 9Q° [IM 986 IR Gigl JRIe RQAIQAQl 2Ied eI
QIAMIRAFGY 9L QIFIEQ @RS 6Q1R NEP — 2020 6aligl
@0Q |
1 National Institutes of Eminence (NIEs)

2 Central Universities of Excellence (CUE)

(8]

Multidisciplinary Education and Research Universities
(MERUs)

4. Institute of National Importance (INIs)

Options :
1. %1
2. % 2
3.¥3
4. % 4



Question Number : 25 Question Id : 3922664585 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Child Labour Act 1986 defines children are those who
have not completed the age (in years)

34 94@ 2IRG - 1986 AQLIL 6ULAIEH 9T Q9 (RF6)
Jod @QQILIE 62C1I6R 62983 QlnY

10
2, 18
3. 14
4, 16
Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 26 Question Id : 3922664586 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Academic Guidance Register’ is a

1 Supervision and Inspection Register
2 Resister of Correspondence

General Register

LS |

4. Financial register

QIERTIR JINELQ 6AGAR 6298 IR
1. Q% 9I9° 4I% 696AR

) JYLRRCILR 695E

3. dRIQS 69GEQ

4. 2R 60G8Q

Options :
1.v1



2. %2
3.% 3
4, % 4

Question Number : 27 Question Id : 3922664587 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to the UNICEF. UNESCO, WHO the skills of
‘Empathy” falls in the following life skill domain

1 Social skills

2 Thinking skills

3. Communication skills
4, Managing skills

UNICEF, UNESCO. WHO 2gqligl! 'dRIg@e’ QIfle QYo
QINGL Q190 6QlER JOIQ 9L LS

1. QA9 6w

2. 999 6aldw

3. 6<llgleLlQl 6Ql8m

4. QINEAL 6RlER

Options :
1.v 1
2. %2
3. % 3
4. % 4

Question Number : 28 Question Id : 3922664588 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to the RTE Act -2009. the teaching hours for 1-5
classes in an Academic Year are

RTE Act -2009 29491 645" SAIQF6Q 161 @ 5¢1 6§61 QIR
A FAGF KA

i, 1000
2. 300
3. 600
-+ 500

Options :

1. % 1

2.2

3.% 3

4. % 4

Question Number : 29 Question Id : 3922664589 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Through these constitutional amendments. a policy has been
formulated that schools operate under the ownership of
Panchyat Raj

@ IFRIFR D6AIR FALNER AZILS AUFN FINRIRIER
AR RIdY RGOS F16 9419 *AUARE

1. 87. 89
2. 83, 84
5] 78,79
4, 73.74

Options :

1. %1

2. %2

3.% 3

4.9 4

Question Number : 30 Question Id : 3922664590 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

These opportunities should be provided in schools for
knowledge construction

1. English language teaching
2. discipline
3. Questioning and discussions

4. Smctl} conducting exams
RIF DS AN FURLER 9L g64dIol 64I%lID QUL QGG

1. e ISl S9IQIQ

2. Q9 9l

3. g4 B aeRIeal

4.  QQIQ0 QS 99Tl fel@

Options :

1. %1

2.% 2

3.3

4, % 4

Section 3

Section Id : 392266151
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266151
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 3922664591 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes

Correct Marks :

0.5 Wrong Marks :

0



If the chronological age and the mental age of a boy are 15
years and 18 years respectively. then his Intelligence Quotient

IQ) is
668l QAR 8900 @ad 8 FIRde Q99 Jaliged 15 98 G 18 Q4.
6069 ©I'Q QI (IQ) 6LRS

. 120
2. 130
3. 140
4, 150

Options :
1.1
2. % 2
3.% 3
4. % 4

Question Number : 32 Question Id : 3922664592 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Teachers should have the knowledge about Individual
Differences because

1. They can assess the students easily.
Z. They can understand the family background of the
students.

r_u

Educational opportunities can be provided basing on
students’ abilities.

4, The financial status of students can be improved.

JYROT MBS ARy FELER VIR QLI LIQNR, RIQE]
1
2

6271169 A2R6Q 1T ARRE AR
. 69QI6R SRIgE AIRQIRR JIR QRAIGER
3. dfeis QU0 2RI AIYeQIs 6dISIR AR
4. daidis 28e 996a At ASale



1. %1
2. % 2
3.¥3
4. % 4

Question Number : 33 Question Id : 3922664593 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Barrier to creative thinking 1s
I, Foster independence
2. Strictly following rules

Encourage curiosity

a3

4, Develop a broad and rich knowledge base
JaRdIa 980 90 goeeed

L. RIGIQ Jg96al
2. QU9 QI6R QUAq 2I9Uad @QQl

3. Q4e9Iq 69I919Q 624

4. QUL IQ° A7 RIQ RPCIA IQIE @QQ!

Options :
1. %1
2.2
3.% 3
4. % 4

Question Number : 34 Question Id : 3922664594 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Creative writers. poets and people with high literary knowledge
possess high level of this intelligence

1. Mathematical logical intelligence
A Music Rhythms intelligence

Naturalistic intelligence

(43

4. Verbal language intelligence
ARG 1@ emoia@. @9 9Q9° QP AT [ el I Ol 9L

Q& 2@ Q@2 |

1. QIdee Jage 9F
2. Q6o e 9f
996a 9F

4. QIOTR QN QF
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 35 Question Id : 3922664595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct answer regarding the Psychologist and

experiments
1. Ebbinghaus a) Memory
2 Alfred Binet b) Emotional development
3. Elizabeth Hurlock c¢) Intelligent Quotient
4. J B Watson B d) Developmental stages
F6RIQRIRT 9Q° QLS 9HQRE 4OR Qa0 P9 @
1. 9@gelq a) 96
2. N6 96Q b) 216R0I@ QRI4
3. RQI6eQd 9 ¢) QI
4. 6w.Q. 6999 d) GREIQ Q@R 641
1. 1-a 1i-c¢ ii-d iv-b
2 i-a 1i-b 1i-c¢ iv-d
3 1-d 1-b 1m-c iv-a
4. 1-a 1-d ii-c iv-b
Options :
1.v1
2. %2
3.% 3
4.% 4

Question Number : 36 Question Id : 3922664596 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A man works in a company. Recently he started working hard
hours together expecting a hike in the salary. Here the motivation
1S

Achievement motivation

1
2 Intrinsic motivation

T4l

Extrinsic motivation

4, General motivation
G661 QI IR RATEQ RIF REQ | RS FIIER QAL QR ISIER 64

Q0@ JAGF @QQ! 92 2RI 91 Q1T Q6@ 19016Q ZQI ARCYAS]
. QO aa6gasd

2. 2R06Rdl AR6YRE

QA6 2RI

4. RIS 2R

fid

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 37 Question Id : 3922664597 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Chimpanzee is used as subject in experiments conducted in this
learning theory

I Classical conditioning
2. Operant conditioning
Social learning

4. Insightful learming
@ S8 0 AARD L°AAITEIER Qﬁit':?ﬂﬁj_ ZRPD QUG

QILE @0l ml

fad

1. 4IQig gaee
2. QINCRIe gI1ae

AR ISl

fad

4. UBQE 94l
Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 38 Question Id : 3922664598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Example for a Projective technique 1s
L. Rating Scale
2. Children Apperception Test

Questionnaire

Tk

4, Minnesota Multiphasic Personality Inventory
gea91 6Ql6e iR QQIL0E 62Q8

. QeIed aae

2. &g geytl 91K

3. 99Iee

4. Qeme6qicl Qgd Q4aQ 901



Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 39 Question Id : 3922664599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
People with comprehensive personality have this characteristic
1. Self-awareness

2. Emotional instability

fid

Lack of decision making capacity

4, Pessimism

QIR QR 2JQl SRR T 669y 2l
L. 2IAEPRG!

2. 26Rde gdQe!

3. Q9@ 6aQl FC0IQ AN

4, GG

Options :
1.¥ 1
2. % 2
3. % 3
4. % 4

Question Number : 40 Question Id : 3922664600 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In Thematic Apperception Test, number of cards used are
1) Picture cards 20. White cards 10

2 Picture cards 30. White card 1

Picture cards 25. White cards 5

4. Picture cards 20. White cards 20 _
QR2-609@ IMA ARV TAT)6Q QLG @D QoI

1. 99 QlIe20. 49 Q€ 10

2. 29 Q1L 30, AR QUL 1

3. 8@ Q625 49 QI S

4. 99 QI 20, 4R AL 20

I'J,J

Options :

1. %1

2.9

3.% 3

4. % 4

Section 4

Section Id : 392266152
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 80
Number of Questions to be attempted : 80
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266152
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3922664601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Expansion form of NADPH

I Nicotinamide Adenosine D1 Hydrogen Phosphate
2. Nicotinamide Adenosine Dinucleotide Hydrogen Phosphate
3. Nicotinamide Adenosine Dinucleotide Phosphorus Hydrate

4. Nicotinamide Adenine D1 Phosphate Hydrogen
NADPH® Q2i06 @
1. QeRIPRININL Z6Lerldy LIR YNELI6ER TIAETS
2. QERIFRIFING 2IELERIdR PIRQIQELING LRERIER] TUETT
3. G6RIFRININR 2I6Rerldy CIRgigBsIag (dTrad LIR6es
4. QERACRNRL 2I6LTR IR TS LINCLICTR
Options :
1. % 1
2.9 2

3. %3
4. % 4
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The overgrowth of Algae in ponds will ultimately results in
decreasing levels of

L. Carbon dioxide

2, Oxygen

3. Nitrogenous materials
4 Chemicals

69IGIQ16Q 6JQRA AGYAR QF TREQ 6HITEQ ILIQ AQACS I
62IR2IN

1. QeQ edgIee
2. ag@ie

QARETIERR e A

fd

4. QANGR A1)

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 43 Question Id : 3922664603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The global warming is due to

1) Human activities

1) Depletion of forest area

i11)  Industrialization

iv)  Using CNG as fuel

QYLIIQ RG]

) AIRQIE QIIeRIC

i) SRR CRAGTR(ZER) 24 dIeQl
i) <GS

iv) CNG Q 997 Q6d Q4929 9aa!

1. i. 11, 1V
2. i1, 1il. 1V
3. i, 11, 111
4. i. 111, 1V

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 44 Question Id : 3922664604 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The gas that is produced due to incomplete burning of fuels

1. Carbon dioxide
Z Nitrogen oxide
3. Carbon monoxide

4, Nitrogen
QR Q¢4 FRQ AINEIQ 98 G QYR 29

[a—

QS PIRAFINR
2. QIQEQI6RR AFINR
RIAQ 6716Q12F IR

Tad

4, QIRELIERR

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 45 Question Id : 3922664605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Identify the morganic impurities in sewage water
1) Nitrates

1) Urea

ii1)  Phosphates

iv)_ Herbicides |

Q@ AIEER 2 AR FIRQ AQIEIQ TS @9

i)  QIRsee
i) gl
iii)  oraAeTre
iv)  QERRI!
L 1. 11
2 i1, 1v
3. i. 11
4, i. 1L 111 1V
Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 46 Question Id : 3922664606 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Birds find the directions for their migration by

L. Following coriolis effect.

2. Observing ocean currents.

3. Using the magnetic field of Earth.
4. Changes in air pressure.

Jogee AdIFIen ARISAEIA Q01 9L AIQILYE] SIS
1. 6RIABRY RIS UGS @R
2. Qg9 69199 AdIsQAE Q%

LS

Q1R QIR 68QQ LR @9
4. QIg QIU6R 90N ARIAER

Options :
1. %1
2. %2
3.¥3
4. % 4
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Display Question Number : Yes
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Deforestation does not lead to

1. Increase in temperature and pollution.

2 Increase i water holding capacity of soil.
;3 Decrease in humus.

4. Decrease in ground water.

R A0 6291 TR 99 99T
i QUG B GBSl Q&

2. TR o Q¢ A9 9F

3. Q499 Q4

1. Q0% ew 9d

Options :
1. %1
2.2
3.% 3
4, % 4

Question Number : 48 Question Id : 3922664608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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This is not a part of Pachmarhi Biosphere Reserve

1 Bori

2 Satpura

3 Lockchao

4, Tawa reservoir

gl JOAIRI FISFIEe ATS 2LRQ IR 2° Q6%

1. 621
2 QAlegal
3. eRIASIB

4, 18l @rueia

Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 49 Question Id : 3922664609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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This helps to reduce the consumption of fossil fuels

i) Using public transport

1) Turning off fans and lights when not in use

iii)  Using solar energy

9] @191 P90 QIQLIQ L9 @AFIER ALIMR 6Ll
) AR I9eLR YA KAQl

i1) IR @ &SI 6Q6R NI 9Q° ARG IR FAKQ
iil)  6dlQ 48 LA R0S

1. i
2. i1

1, 111

[N

4, i. 1. 11
Options :
1. %1
2.% 2
3.%3
4. 4
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Niche does not denote

1 What the animals eat
2. Number of organisms
3. Animals mode of life
4. Organisms occupation
qQ 2Iq 450 /6a IZ

1. JIsnellaa Sty

2. Qlew Qs
3. QRegw f1ea6dnT

4. QP QY

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 51 Question Id : 3922664611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The disease caused by bioaccumulation of methyl mercury

1. Mutiple Sclerosis

2. Silicosis

3. Myosarcoma

4. Minamata

delam aqieIx 669 FRAIRASIQ LR 6T

f—

INCdn Feaudd
2. dpeeldq

6K

Tl

4. AGANG



Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 52 Question Id : 3922664612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The percentage of biomass transferred from one tropic level to
the next in a food chain 1s

QY JHRER 691G 60I9R FAQ UALE! 60IER 30q ARSAS
62RQ| 669agRR JG9Ie

1. 90%

x  S%

10 -20 %
4. 30-50%

(Y]

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 53 Question Id : 3922664613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The dead cells in phloem

E Sieve cells

2 Sieve tubes

3. Phloem fibres

4. Phloem parenchyma
EFINEIER €6 61T

[ Qe 6@l

2. QIWa'1 @1

3. 69146 o9
4. 6gINA 959

Options :
1. % 1
2. % 2
3.¢¥3
4. % 4

Question Number : 54 Question Id : 3922664614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The best method for watering fruit plants, gardens and trees

. Sprinkler system

2. Chain pump
3. Drip system
4. Rahat

T@ 98, QGG 6 G8Q A8 6211 AR AR QAL
. d5Q aee

2. 699 ad

3. QQIdee

4. 6ag2

Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 55 Question Id : 3922664615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Vitamins available in fish

i) E
i D
1m)  Niacmn
wv) A
AIZQ CigelQl QI
i) E
i) D
i)  QeNde
wv) A
1. iiiliv
2. iiiv
3. iiLii
4. il il iv
Options :
1. %1
2.% 2
3.% 3
4.4 4
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Identify the festivals that are associated with harvesting season

a. Pongal
b. Deccan festival
i Bihu

d. Nabanya _
2Fe AA6Q §GQ eGeq T899 @9

SR = {1=)

2. 60QIQ 99
@Y
Q

Tl

4, |5
1. a.b
2 a, b, c
3. c.d
4, a,c,d

Options :

1. % 1

2.% 2

3. % 3

4.9 4
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Display Question Number : Yes
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The microorganism that reproduces only inside the cells of the
host organism 1s

1. Bacteria
2. Virus
3. Fungi
4, Protozoa
6dIg@ @196 680 AINIBAIEIER 6w a0 @Qal 2ge1a
1. QlelE]
2 wele]
3. @
4. 2IGYISN
Options :
1. %]
2.2
3.% 3
4. % 4

Question Number : 58 Question Id : 3922664618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Anthrax” disease causing bacteria was discovered by
1. Robert Brown
2. Robert Hooke

Robert Koch

4. Robert Villlum

Y 6 AR QI ARV 6

Tad

1.  QQe9eq
2. QQ99R
3. Q90 62l

4. Q@6 Gaaq

Options :
1. % 1



2. %2
3.3
4, % 4

Question Number : 59 Question Id : 3922664619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Protozoan diseases among the following
1) Tuberculosis

ii))  Dysentery

ii1)  Typhoid

iv)  Malaria

QNGRS F1IQ TR @GS 6QUST
i) Al 6QUGl
i) ARG
iii) QIRCrg
iv)  CNIeRQ2
1. 1& 11
2. i1 & 1v
3 i1 & 111
4. 1 & 11

Options :

1. % 1

2.92

3.%3

4. % 4

Question Number : 60 Question Id : 3922664620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘False’ statements regarding ‘mitosis’
1) It helps in growth of tissues in organisms.

11)  Daughter cells have half the number of chromosomes
than that of the mother cell.

1i1)  Mother cell divides to form two identical daughter cells.
1v)  This process will not help in repair of tissues.
'AFQWPR AARER 'CllY’ Q@S

i) 99 ¢1ew 0g 9&6a LI 621N

1) AR 6@IVER QeI Eledl 2l 6QI6LlewIe] 2N |

iii) CIPERIE YRFG 62IR QAT AAIR(IRIAR) LA 61

Q0% @6a |
iv) 99 g@@l 59 FRINP6a AL R6Q Q1R |
1. i&1
2. 11 & 1v
3 i1 & 1v
4, 11 & 111
Options :
1. % 1
2.% 2
3.% 3
4, % 4
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*All cells arise from pre-existing cells’ - suggested by

1. Leeuwen hoek
2 Schleiden - Schwann
3 Virchow
4. Purkinji
'A719 618 R90 6RINQ Qe 99 6Qla IoIReem
I REeQLR
Z 64R6Lq - 949
3. Qe
4. oG
Options :
1. % 1
2. %2
3.¢3
4.% 4

Question Number : 62 Question Id : 3922664622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the mismatched pair from the following

L Collenchyma — Flexibility in plants
2. Sclerenchyma — Husk of coconut
3 Aerenchyma — Storage of food

4. Phloem — Transport of food
Qm 646G 526 A
1. a6l 89 — ARI6a A1)
2. Q@69 -Gl @0l
3. QIgOd - dliiQ Qgg
4. 6LFINF - BIQY URQLR
Options :

1. % 1
2.% 2



3.¢°3
4. % 4

Question Number : 63 Question Id : 3922664623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Correct statements regarding unstriated muscles
1) They are also called smooth muscles.

i1) They are voluntary muscles.

ii1)  These cells are spindle shaped.

iv)  These cells are multinucleate.

2I6QGe 6a461 AF]96Q 40K ARG

i)  99eQ A4 6941 C1&l QRIC |

i) 9gee dge 6adl |

i) 99 6QIIYER @4l 21N 62PN |

iv) @ 6RI9GPR QEayEs Qad 6LIRaIN |

1 1.1 & 111
2 1., i1 & 1v
3 1& 111
4. 1&1v
Options :
1. %1
2.% 2
3.¥3
4. % 4

Question Number : 64 Question Id : 3922664624 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the following
L. Smooth endoplasmic reticulum Lysosomes
I1. Energy currency Synthesis of Proteins

A
B

III.  Rough endoplasmic reticulum  C, ATP
D

IV.  Suicide bags Synthesis of Lipids
QENGO 92 6019 Q9
L. €19€] 2128dd QM@ A QUREDSIC
I dagql B. g3d91Q 2°6484l
1. QY9 AR QN C. ATP
IV. 2i€uiol ew D. 64994l K eddsl
I I I IV
1. B C D A
2. D C B A
3. D A B C
4. B A D i
Options :
1% 1
2.¥2
3. %3
4.% 4

Question Number : 65 Question Id : 3922664625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Cockroaches have
1. Three pairs of wings. Two pairs of legs

2. Two pairs of wings. Two pairs of legs

)

Three pairs of wings. Three pairs of legs
4. Two pairs of wings, Three pairs of legs
Addien 4wl aig |

1. ©F 6419l 624l 9 64l 691F

2. QR6AIQ 626l QR 6Kl 69UF

3. 0F 619! 624, BF 641 691G

4. Q@ 641Gl 624l OF 621 631G

Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 66 Question Id : 3922664626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘Rib Cage’ formed by

1) Ribs

1) Pelvic bone

ii1)  Chest bone

iv)  Back bone

'?F dSQIE' 9Ll 919l G109

i) G99l AP
i) @Ceada
i) Qg

iv)  601QQd

I .11 &1v

Z 111 & 1v

1. 111 & 1v
4, 1.1 & 11

Options :

1. % 1

2.92

3. % 3

4. % 4

)

Question Number : 67 Question Id : 3922664627 Question Type : MCQ Option Shuffling : No
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This 1s NOT the character of a desert plant

i) Loses very little water through transpiration.
1) It has broad leaves.

ii1)  Photosynthesis is carried out by the stem.

iv) It has roots that go very deep into the soil.
gl (96 ARRQ NS G6L

i) QELRR FIRl 2G K¢ GF LAUR2IN |

i)  92l6Q BaIqeEl A8 a@ald |

iii) QIS FIAl 2ENRA6ANS [N |

iv)  99IQ 699 FAITQ QgL N1 AIREN |

2 1& 11
2 i1
3. il & 1v
4. 11
Options :
1. %1
2.% 2
3.%3
4.4

Question Number : 68 Question Id : 3922664628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Example for ‘Divergent evolution’

L Fore limb of a Whale — Hand of a Human
2. Wings of a Bat — Wings of a Butterfly
Fore limb of Cheetah — Wing of Butterfly
4, Wing of Bat — Wing of Bird

‘2] YR’ UiD AQILRS]

i SQ 2ga — IR Q19

2. QIQUR 6¢ll - gRIdE 624l

SRIRIAQ 2GS - IRIUGQ 624l

4. QIQPQ 604l — AYQ 624l

(S ]

(S ]

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 69 Question Id : 3922664629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Archeopteryx” is a/an

1 Connecting link
2 Living fossil

Evidence from embryology

T4l

4, Analogous organ
‘EJIQBGQ@‘@ 628 IR
1. AQIQ 649

2. Q1IR3 IQIg
3. QEQRIQQ ges
4. Q9QQA1 2

Options :
1.¥1

2. % 2



3.%3
4. % 4

Question Number : 70 Question Id : 3922664630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Dominant trait in pea plant

L. Yellow colour pods
2. Axial flowers

3. Constricted pods

4 White colour flowers

190 QELER IR QRIS
1. 9eG gq e
2. g ga

QEe e

4. U Qda ga

[N

Options :
1. %1

2.2
3.%3
4. % 4

Question Number : 71 Question Id : 3922664631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The correct order of stages of a cell cycle
6RIS0qQ 2edigeaq 40 q¢l

1. S-Gi—-:-M
2 M-S-Gi—(»
3. Gi—-S-G,—M

4. Gi-M-S-G;

Options :
1. % 1



2. %2
3.3
4, % 4

Question Number : 72 Question Id : 3922664632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct sequence with respect to reflex arc

I Sensory nerve — Receptor — Motor nerve —
Interneuron —Effector organ

78 Receptor —Sensory nerve — Interneuron — Motor
nerve — effector organs

fad

Motor nerve — Interneuron — Effector organ —
Sensory nerve — receptor

4. Interneuron — Effector organ — Sensory nerve —
Receptor — Motor nerve

Joeaa QId Ao A0R F99eR 096 A
1. 6@ Qi — 9I9IERIY— Qe dlg—
rRIFIIG — NN 2T

2: 9IL16RIY — d6f]va 9l — (14949l — Qlve 9id —
QNPT LIk

QIR qig — FRIIIY — AN AF — 6D G
- FIF16RIY

(8]

4, RIDAIG - QDIRA AT — 6@ Y — YRR
- QIae qIg

Options :
1. %1
2.9 2
3.%3
4. % 4
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Extemal fertilization can be seen in

QY AL IR 069 6QElIIRAIER
a) frog (6Q&F)

b) whale (5¢1)

¢) fish (¢11L)

d) starfish ( QIQU A1)

1 2 b.c.d
2 a.b
3. c.d
4. a.c.d

Options :

1. % 1

2. % )

3. %3

4.9 4

Question Number : 74 Question Id : 3922664634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The stage of an embryo in which all the body parts can be
identified 1s

ks Zygote
2, Blastula
3. Gastrula
4, Foetus

Q1R 9O ek 0L @QULIRUIQEQN Yl AR

1. I
2 QR
3. dIg
4 |



Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 75 Question Id : 3922664635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The parts in the stamen are
1. Anther. style

2. Style, filament

B Anther. Filament

4. Style, Stigma
6@E00 QU WG

1. ARAUGRILIRT. S

2. @, CRIAPE
AAUGRIFIF. RIS
4. ARl IR

(S ]

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 76 Question Id : 3922664636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Identify the plant that can produce new plants from detached
leaf from parent plant 13

1. Bryophyllum

2. Hibiscus

3 Marigold

4, Rose

(19 YU g J2R 6LIRQl UHQ GO QL Ade
RQQQ QLG TLC K9

L 2196 dIwl
2. Cl1
3. 699
4, 6olimid
Options :
1.¥ 1
2. %2
3.% 3
4. % 4
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They carry “Hunger Generating Signals’ to brain
1) Diencephalon

1) Trigeminal nerve

111)  Cerebellum

iv)  Vagus nerve

'FPoll AEFQ'Q (199 FREQ LI QLR Q6

) GIAIQEATImMY

i) QIR g

iii) 6J6AEARIF

iv)  6Qelq 9ig

1. 1&11
2. 1 & 11
3. il & 1v
4. 1&1v

Options :

1. % 1

2. % 2

3. % 3

4.9 4

Question Number : 78 Question Id : 3922664638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Find the mismatched pair

L. Testes — Testosterone

2. Ovary — Progesterone

3 Pituitary — Leutenizing hormone
4. Adrenal — Thyroxine

2ACR 6<% LG @R

1. QI8 — 656U

2. @99 - g9eEqq

3. dI99 gR - RAEERIRG” 2a67Iq
4. 2Iegeln — 2IRAGR

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 79 Question Id : 3922664639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The part of the brain that controls Heart beat

ii; Cerebrum

2. Medulla Oblongata
3. Cerebellum

4, Diencephalon

9Q dRAq YRS KQAQl (14IQ 2°F
1. gods

2. 4gqeIse

219013

4. QEAQEATIRQ

fad

Options :
1. % 1



2.9 2
3.% 3
4, % 4

Question Number : 80 Question Id : 3922664640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The organisms that excrete uric acid

1) snake
11) fish
i)  burd

1v)  man

goQ 1dQ 6092 K99 K19

i) (19
i) Qg
i) 91
)  eeQ
1 1& 1w
2. il & 1ii
3. i1 & 1v
4. 1 & 11l

Options :

1. % 1

2.% 2

3.% 3

4.9 4

Question Number : 81 Question Id : 3922664641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correct sentence/s

1) The right kidney 1s placed lower then left kidney
i) The right kidney 1s placed upper than left kidney
1i1)  The right kidney is bigger than left kidney

d0Q Qageq 999 @ |

1) QRIS QAW QI Q@@ A/ O 2l

1) QL6 9@ Qlfl 9a@ Al Qdeq 2l

i) QLI XX QIFl 9QX ElEd Q¢

1 1 & 111
2, i
3. il & 1ii
4, i
Options :
1. % 1
2.2
3.%3
4. % 4

Question Number : 82 Question Id : 3922664642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Xylem
Transports the food in plants
2, Transports the food and water

S ]

Transports the water only

4, Transports the water and minerals
@DEME]

1. Q@96 S 9QeR Qe

3 I 6 IR QLR @5l
QAR O JAQLR @8l

4. oR9e° gdie 991 I0eeR 969

(D



Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 83 Question Id : 3922664643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Capillaries were discovered by

1. Marcello Malphigi

2. William Harvey
3. Girolamo Febrici
4. Rene Laennec

ARERIRR1Q 2V *GleM
1. f16dR ARG

Enae elew
QIREAUMIEE I

4. QR AR

ka

fad

Options :
1.v 1
2.% 2
3.% 3
4. % 4
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Assertion (A):  Pulmonary vein carries oxygenated blood.

Reason (R): Pulmonary vem carries blood from lungs to
heart.

1 A i1s correct and R is incorrect.
2 A i1s incorrect and R 1s correct.

A 1s correct and R 1s correct explanation of A.

fsd

4. A 1s correct R 1s not correct explanation of A.
Q612 (A) : gAY §IQl ARIR IS AR LR @2 |
RIQSI(R): FIgAI S0 FATIQ Q2] 2608 FREQ 69@elN |
1. Ad0Q9e°R 9 2GS
2. A@me°R OQ &6G|
3. AdOQ9e° R A9l A Q 9O QUISH! |
4.  AQORR U2l A Q A0K QI Q6% |

Options :

1. % 1

2. % )

3.3

4. % 4

Question Number : 85 Question Id : 3922664645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the organism that does not respire through diffusion
1. Amoeba
2! Cockroach

Round worm

T4l

Planaria
dQdl FlIIFIEQ GIAQD RQFYQ F1QQ GLC AR

2IEQ)
2IAQCl
6QlIMQETT

4. QIeRal
Options :

D= @) e

T4l



1. %1
2.9 2
3.% 3
4. % 4

Question Number : 86 Question Id : 3922664646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The aerial roots are seen in
1. Mangroove plants

2. Aquatic plants

L |

Terrestrial plants

4. Xerophytes

QAQIE IR N2 AVEQ 6QCICIN
1. Ige 9eQ
2. GRFQeQ
3. 999 Q@9
4. 9% Q@Q
Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 87 Question Id : 3922664647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The concentration of oxygen at a height of 13kms above sea
level is

1. % of that at sea level
2. % of that at sea level
3. % of that at sea level
4. % of that at sea level

Q79 982019 13 FERIFTA A6 AR AIG]
. a9 9ee O % QI

2. a9 aeR 0Q %@m

(S

aqe 988 0 éaag

4, Ag99es 09 i Qs

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 88 Question Id : 3922664648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“True’ statement regarding “Oesophagus’
Passes food to stomach

Walls do not secrete mucus

-2 =

Upper end connects to stomach

(ad

Lower end connects to pharynx
PR AAREQ 'Y’ O

¢INQ JIRdR! FRoq ALEN
JIP1R6Q 649 IS 949 Q@
QA VIF ARARTG A°6IG RER
4. Q¢ Q9 991 Q649 Q6

S ) B

fad

Options :
1.v1
2.% 2
3.%3
4. % 4

Question Number : 89 Question Id : 3922664649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Chlorophyll helps

1. Leaves to capture the energy from the sunlight
2, To trap the CO, and converts into energy

N Chloroplast to absorb O, through stomata

4. To excrete CO, through stomata

GEILGGIIQTEI Y| IRl @69

. 98 9AuIERIAQ 43 2ILAS F6Q
2. (O, 926 @6Q ¥Q° §@6Q QUILAS R
6QI6QIQL 0, Q 6271 FIR F24 F6ER

4. €O, Q637 AKIFIER 699F F6R

Td

Options :
1.v 1
2. % 2



3.%3
4. % 4

Question Number : 90 Question Id : 3922664650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the mismatch
1. Symbiosis - Beans plant
2. Insectivorous - Pitcher plant

Parasite - Cassia

(S ]

4. Saprophyte - Mushroom

PRCUIPE §26 QQ

1 JLR1RQ! — IERIRNL QRS
2. QI6RIS! QEQ - @78y I8
3. dOQ1Ql - QIdel

4. ¢o6RIR! - 89

Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 91 Question Id : 3922664651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The roots that store food
A) Potato

B) Sweet Potato

C) Ginger

D)  Tapioca

Sl I°RE QeI ﬂjﬁ‘

A ag
B) @Qqe
C)  2Ql
D) Qg
1. A&B
Al C&D
3. A&C
4. B&D

Options :

1. %1

2.% 2

3.% 3

4. 4

Question Number : 92 Question Id : 3922664652 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the mismatched

1. Vitamin A — Night blindness
2 Vitamin C - Anemia
Vitamin D - Rickets

4, Iodine - Goiter

MELle 920 @9

1. QOKQ 9 - 29104l 691

2. QOFQ d- eeIed)

3. QOINQ @ - Gsaq

4. AL - IR0l

LS ]

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 93 Question Id : 3922664653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the substance that does NOT turn blue in Todine test

1. Idly
Z. Potato
3 Milk

4, Cooked rice _
26ALR IN6A FRAdeq IS 62Q @ A9l Al 56
@

1. Q9®

2. g

3. Q9

4. Q9IQ
Options :

1. %1



2. %2
3.3
4, % 4

Question Number : 94 Question Id : 3922664654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Organisms that reproduce through spores are

A) Fungi

B) Hydra

) Mosses
D) Ferns
60 ¢lldelen et @l 19
A) @@

B) LRG|

) 14

D) a4

L. A&B

2. AB&D
3 AC&D

4. AB.C&D

Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 95 Question Id : 3922664655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The heartbeat of a 6-12 month infant per minute 1s

6-12 €19Q SR YRIRR LA (g FIFT6R )

1. 90 -120
2. 80-120
3 70 - 130
4. 60 — 100

Options :

1. %1

2.92

3.% 3

4. % 4

Question Number : 96 Question Id : 3922664656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Fermentation of Idili and Dosa batter is carried out by
1) Bacteria
11) Virus
m)  Yeast
iv)  Protozoans

QM 9° 6QIdI C16g AR PAER AIRILY F6R

i) QI
i) QoI
i) Q@
V) 2919
1. il &ii
2. LiLii&iv
3. i&ii
4. ii&iii
Options :
1. % 1

2. % 2



3.¢°3
4. % 4

Question Number : 97 Question Id : 3922664657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Percentage of tall plants produced in F; generation when a

homozygous tall plant is crossed with heterozygous tall plant

AAYYS 696 AEAYLY FVALYS 606 QEQ 4L ATAS F6@
F1 d@6Q 4R 6229 606 QE9Q gGao

1. 100%
2, 75%
3. 50%
4. 25%

Options :

1.¥1

2. % 2

3.% 3

4. % 4

Question Number : 98 Question Id : 3922664658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Incorrect match among the following
L. Nimbin - Antiseptic

2. Pyrethroids — Sedative
Morphine - Pain killer

LS ]

4. Quinine - Anti malarial drug
@UMGQ F1UQ @M 6L

1. QAQ-a4d6dde

3. dIRCACYIRG — 36l G

LS ]

aaQ — Quell QAR
4. QIR - 6N GRS g

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 99 Question Id : 3922664659 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Asserssion (A): Siberian crane migrates from India to Russia
when winter season sets 1in.

Reason (R): They must keep their body warm to survive
n cold regions of the Earth.

Choose the correct answer.

1. A and R both are incorrect

2. A 1s incorrect: R 1s correct

3. A 1s correct: R 1s correct explanation for A

4. A 1s correct: R 1s not a correct explanation for A

Q6QIa (A):  AAEAARUY QISR €16 AP A 62AUEAER
QALY QTG VSRS G2IS |

QQd (R): AR 910w UEa6R QEQl AIR 6<ClIeT J10q
QY QIR 2QEND |
dO@ Q96 998 a9 |
l. AYGE°RQUYI LR
2. A@®RRQ0Q |
3. AdOQ:RQ A Q A0 YISl @69 |
4. AQOR:RALAQ A0q NI R6a Q1L |
Options :
1. % 1
2.¥ 2

3. %3
4. % 4

Question Number : 100 Question Id : 3922664660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



These are not soil conservation methods
a) contour planting

b) planting gliricedia on field bonds
C) planting crops along the slope

d) Repeatedly planting the same type of crop in the
same field

e (awl aus d8G g6e

a) @9 64

b) Q96Q Qdell 68 @QSl

) Qg A5R6R FdR 68 QAR

d) 605 6IGER AR IR FANG QLR 6T RRAQ

| a&b
2. b&c
3. c&d
4, a&d

Options :

1. % 1

2.% 2

3.¥3

4. % 4

Question Number : 101 Question Id : 3922664661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Primary CO» acceptor in C4 plants

1 Ribulose bisphosphate

2. Phosphoenol pyruvate
Phosphoglyceric acid

4. Ribulose

C4 Q0960 67109 QI6Q CO, q 924 K69
1.  QQUERIR QARTETS

2. TIeIRERIM AIRQEWRT

3. edIgedaq &g,

4. QQUEmIS

(8]

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 102 Question Id : 3922664662 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The mechanism of opening and closing of photoactive
Stomata is explained with K™ pump theory by

1. Levitt

2. J.C. Bose
3 Henry Hill
4, Calvin

K* ¢t dRI2 FI0 2RISR R6aG6 621¢ 6HIAQ] 96° QL @Q9Ia
gélinlg Qdal @Ggem

1. 6mEg

2 60.d. 6QI¥

3. 629919

4. QNER



Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 103 Question Id : 3922664663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Whittaker. Non cellulosed cell wall and
multicellular, heterotrophic. nuclear membrane containing
organisims

1 Plantae
2. Profista
3. Fungi

4, Animalia

QR AQLIL]. 6ARERIT FLIR 61 R, LERIV1LL.

JERIST \9Q° QYE (2 K19
1. Q6
g, 6gIcal
3. TR
4.  G@ai@el
Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 104 Question Id : 3922664664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A newly emerged Pandamic COVID — 19 is caused by
1. SARS — CoV -2 Virus

2. SARS — CoV -1 Virus

SARS — CoV - 3 Virus

4. CORONA virus

QOR VIQ6A FIe 621RgQl dIgiFiq COVID — 199 Q194!
1. SARS — CoV -2 Virus

2. SARS — Cov —1 Virus

3. SARS — Cov — 3 Virus

4, SN NN ‘@G‘Iél

Tad

Options :
1.v1
2. %2
3.% 3
4. % 4

Question Number : 105 Question Id : 3922664665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The phenotypic ratio of F, generation that shows Incomplete
Dominance

A4l geIel 99 Fr @aMaal agaie

1. 3:1
2. L:2:]
3 X2
4 4.0
Options :

1. % 1
2.92
3.%3

4.% 4



Question Number : 106 Question Id : 3922664666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The book ‘Families of Flowering Plants’ is written by
1. Bentham & Hooker’s
2 Engler & Prantl

Linnaeus

L |

4, J. Hutchinson

‘Families of Flowering Plants’ J9e@q Q071 @Q2len
8 €QRI¢] 9G° @99

-2

AIFRIR 9Q° gI6aR

L |

aiEiate]
4. 6. 909499

Options :
1. % 1
2. %2
3.% 3
4.9 4

Question Number : 107 Question Id : 3922664667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Plant that show Hypohydrophily

1. Vallisneria
2, Hydrilla
3. Zostera
4. Pistia
‘QRCAILINELITR’ QG QBR
1. Qagerael
2. Q96
3. 6@I6AR
4. Q|
Options :
1. % ]
2. % 2
3.¥3
4. % 4

Question Number : 108 Question Id : 3922664668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The incorrect reason to say “Pea seeds swell more than wheat

seeds”.
1. Pea seeds contain proteins so imbibition 1s more
2. Wheat seeds are made up of carbohydrates so

umbibition is less than proteins

Carbohydrates have high imbibing capacity compared
to proteins

fad

4. Proteins have high imbibing capacity compared to
carbohydrates

“QIR¢1 18 QRAIER ACQ B 2@ TN |7 LG @LQIg On
QIS
1. QeQ (Eea gaAIQ 2N 604 d°6ElIHE] 2@ 621N

2. Q20 a86Q 6904 Q! FIal JEAUQ FRAIER A1
QAEHIVE 621RIN

3. 69LdIq, q@qm 2edal 2@ L°6alYEl AL 2N
4. ‘E]d_‘a‘iéllﬁ, 6904dIal 26ddl 2@ L°Callds] ALl 2l

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 109 Question Id : 3922664669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Plants with less significant roots, absence of root cap, absence
of stomata and contain aerenchyma are

E Mesophytes

2 Xerophytes

3. Hydrophytes

4. Lithophytes

@7l gRRgd TR QI 98, (@ QYIde 2G990, 6aI9a Agaae
Q° I6RRRIRCT 291 QBT Ge 62Q8

1. deairogd
2. @6QITIRNGd
3. QIR6QIaod
4. @QeaAdIagd

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 110 Question Id : 3922664670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Plants that send haustorial roots into the xylum of the host
plant to get water and minerals are

1. Viscum , Striga

2. Viscum, Rafflesia. Vanda

& Rafflesia. Cuscuta

4. Rhizophora. Avicinnea. Vanda

6JI9RQ FIRERF §96a R B HEie dQlE ARG AR LCAIR2AF
6900 ReQ

1. Q4eie, gal

2. Q4RI quegrdel, @lal

QUeEAel, RS

4. QIRERIETIQL, 2N1QEG2, Gldl

(b

Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 111 Question Id : 3922664671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The composition of oxygen in dry air by volume is

g9 QL6 ARNIRQ AGLNE]
1. 2094%
2. 21.96%
3. 2001%
4. 22.65%
Options :
1.v 1
2. % 2
3.%3

4.% 4



Question Number : 112 Question Id : 3922664672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Heparine synthesizing blood cells are
1. Acidophiles
4 Neutrophiles
3 Basophils
4. Lymphocytes
629109 eSS @Q2IQ ARREIR!

1. 9d6QIad
2. QiegIgmg

T2l

6Q64ITmd
4. Qedldiaed

Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 113 Question Id : 3922664673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Human Insulin contains 51 amino acids. In that

1. Chain A has 30 Amino acids & chain B has 21 Amino
acids

2 Chain A has 21 Amino acids & chain B has 30 Amino
acids

Chain A has 20 Amino acids & chain B has 30 Amino
acids and chain C has 1 Amino acid

(d

4. Chain A has 30 Amino acids & chain B has 20 Amino
acids and chain C has 1 Amino acid

AIReE RQLRQER 516 2UF6R! 9de @2l | 63269

1.  69Q A 6Q 303 aIfieql 9de 8 604 B 6@ 216 2764
de Q@ald |

2. 6OQA6Q21G R 9dQ 9e° 609 B 630 G
2IcieR! 9de o@alN |

60Q A 6Q 20G ZIF6R] 99Q 9Q° 697 B 6Q 305 &IF6S
qde 9e° 60 C 6@ 1 2IFeq! 9dq a@arg |

(8]

4. 699 A 30Q 2Ifier! 9dQ 99° 699 B 203 &Ifsq!

dQ 96° 69Q C 6Q 1 AIF6R! 4] Q@2 |
Options :
1. % 1
2.¢ 2
3.% 3
4, % 4

Question Number : 114 Question Id : 3922664674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The most common abnormalities that can be detected by
Amniocentesis

1. Down syndrome, Hypertrichosis
2 Edwards syndrome, Hypertrichosis
3. Down syndrome, Edwards syndrome

4, Hypertrichosis. Hyportrichosis
QMR 99 A FIQI LG FAUIR2QN AN GG

1. QQQ dedld . AU SIRcadq
2. 9Ruied d6gifl . 21909 SIRsRIdY

Qlaq degie] . 1eaIed dedlel

ad

4. QU9 gINeRIdd, 2R6dl SINeRIdd

Options :
1. % 1

2. % 2
3.3
4, % 4

Question Number : 115 Question Id : 3922664675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Father of modern Embryology is
1. Ermst Haeckel

2. Stanley miller

Herbert Spencer

4. Van Baer

(8]

2RJOR YITRIOQ KGR 62083
1. 99699 626an

2. €@ fae

3. 20069949

4. QI 6L9Q



Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 116 Question Id : 3922664676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The excretory organ that decomposes Haemoglobin of worn-
out RBC’s in the human body

| 7 Skin

2. Kidney
3. Liver

4 Lungs

PR JQAEA ¢Jo 6NILE 98 AERIEA FEAIBYIEYY UL
Q2SI 699Q 2le

1. o4

2. 9ae

3. 499
4. gagda
Options :
1. %1
2.% 2
3.¥3
4. % 4

Question Number : 117 Question Id : 3922664677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Pantacronematic flagella is seen in

1. Urceolus
2. Monas
3. Polytoma
4. Astasia

ILIEFIERETTR FleaR GEd 1S

1. 29deadg
2. 6AlRI
3. ARESIEN
4, 2leadell
Options :
1.1
2. %)
3.% 3
4. 8 4

Question Number : 118 Question Id : 3922664678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Correct sentences related to Haemolymph of periplaneta
i) Haemolymph is colourless and has plasma.

i1)  Haemolymph has no corpuscles.

ii1)  Phagocytes engulf germs to protect.

iv)  Haemolymph does not transport secretions of
ductless glands to target organs

6RO L6 A1 A0 QIRY

i) QARG LR 99 YK gD

i) QARG 6R19 G919

i) ol AR . UL 6QIFAIER FIRIEIGF W @RS
iv)  2QIRGRA JI9F 626N F6RIC g JAIER K64

@le
1. i&1v
2. 1. 111
3 il . 1v
4. i1, 111 . 1
Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 119 Question Id : 3922664679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Identify the mncorrect pair

1. Cytozoic - Nosema

2 Histozoic - Entamaoeba
3 Coelozoic - Wuchereria
4. Monogenetic - Ascaris
Qm 64l% 099 @

1. AREOIERINN - 6Q1€el

2. SRR - M€IFQ)

3. Jd6RIRIaR - 6962

4. 6LI6QI6R6R0R - A/QL

Options :
1. %1

2.% 2
3.¢°3
4. % 4

Question Number : 120 Question Id : 3922664680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The only cells of mesodermal origin in the nervous system are
1. Satellite cells

2. Schwann cells

3 Microglia

4. Astrocytes

AGISINQ FIQDIQ QYR 62Q2R! IRFIQ 61 628

E: 64dIMIDG <M

2. 9IQ 69w

AIRERIGRI

[N

4. AYIARG

Options :
1. %1



2. % 2

3.3
4. % 4
Section 5

Section Id : 392266153
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40

Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266153
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 3922664681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The specific behavioural change of the student after
completing teaching is known as

1. Objective

2 Aim
3. Specification
4 Goal

FAQIQ ALY QAR T6Q FFIgliE 069 6QHTA FAd PASIER
AR

i QEwY
2. e
3. QYL@
4. Qe
Options :
1. % 1
2.% 2
3.3

4, % 4



Question Number : 122 Question Id : 3922664682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The word ‘Biology’ was first used by
L. Charles Darwin
2, Mec. Dogel

J.B. Lamarck

4. Wﬂliamsml_
QEAERG' 48 AQ FaI6T QISLIR FRU6R

1. olRg elE
2. CNIQ 6QI69R
3. 60.9. Qae
4. EQE0ER

Options :
1. % 1

L |

2. %2
3.¢3
4.% 4

Question Number : 123 Question Id : 3922664683 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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A student defined ‘Photosynthesis™ by using exact terms. This
behaviour is related to the following objective

1. Knowledge
2 Understanding
3. Analysis
4. Evaluation
@681 SN, F0R SR HRUR FQ 'ZIERIR °6HAS'Y UISH @l | 4G
2R F¢] AR AL YD |
1. R
2. 2QeQl
3. Q6agd
4. gslteis
Options :
.Y 1
2.% 2
3. %3
4.% 4
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A student has shown interest to make an improvised model of
stethoscope at home. According to Krathwohl this belongs to
the division

l. Valuing
2. Responding
3. Receiving
4, Org\_anizmg
@66l Rlig] WER 66T 1@ URG (16em WU QAR
2192 gald @l | glagine QI € 6§61 92 900 |
1. g dda
2. goqal geld
3. ged aaal
4, 4°GI0q
Options :
1. %1
2.9 2

3. %3
4.% 4
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One of the following characteristics is NOT applicable to
objective

I. Has academic importance

43 Observable in student’s behaviour

fsd

Achievable in specific time period

4. Based on teacher’s competency
QIQ 6011 RVS AEREY AR YL Q6L
1. 4860 9Qe ada
2. d[1E1 21908 AdI6QAE
3. 509 999 296Q ARIG
4. 9w 9ol ERIGS

Options :

1. %1

2.% 2

3.%3

4.9 4

Question Number : 126 Question Id : 3922664686 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Teacher’s casual leaves are to be considered while planning
1. Lesson plan
2, Unit plan

Year plan

fad

] Period plan
daw dde gogeq 19 6dIenl Jg96ease Qolag 6aalg
2

il )

QoY 6AKR!
909 IS
QIEQ 6ISER]
4. Q¢4 el

I

Tad

Options :
1. % 1



2. %2
3.3
4, % 4

Question Number : 127 Question Id : 3922664687 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

To prepare a period plan for the topic ‘Agriculture’, the first
step to be taken 1s

1. Selecting teaching aids

2. Selecting academic standards

L |

Selecting content

4. Preparing Questions for motivation
RF GEd AR 98 Gd4 6dIRR 996 K0l din 6091 gale

A6
1. J6RAIRS 9LR RER!
3 JACNE e FAS
3. QU(gd9er) 999 @QKl
4. 699dl IRl 94 920 QoS!
Options :
1. % 1
2.¥ 2

3. %3
4.% 4
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This can be mentioned while teaching about Louis Pasteur

1. Natural selection

2, Germ theory of diseases
3. Theory of Inheritance

4. Germ plasm theory

o IS QELEQ TR 6QQI AR WGl QRS
@olILdIER

1. 91909 949
2. Q26 ag 6de
3. Qe0RRIQ Y
4. 26 Qe a6al
Options :
1. % 1
2.¥ 2
3.% 3
4. % 4

Question Number : 129 Question Id : 3922664689 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



When a teacher explained about Venom glands by showing
Scorpion specimen. The type of learning experience received
is

1. Direct experience

2. Representative experience

3. Indirect experience

4. Spe{:lallzed e\]}euence
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After discussing the characteristics of animal and plant cells a
teacher asked students to observe the cell structure under
microscope. The teaching method is followed here.

1. Deductive method

2, Inductive method

3. Demonstration method
4 Heuristic method

gidll 8 Q0L 69199 AAEGEe GIN6R RN FAQ! U6
@68l G99, ARG AGNAS 9] AL 6RIER G0
AQUIR RAQIG REIEM| MOIERQ UGS RA2R! VIR ARG

1.  2Q6Iel 98

2 2IeULT ARG

3. gode 986

4. 26QES 986

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 131 Question Id : 3922664691 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



7% class students learned ‘Water ecosystem’ by making an
aquarium 1in the school. the teaching method followed here i1s

1. Heuristic

2. Project

3. Problem Solving
4 Demonstration
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The best method to teach ‘Flower and its parts” to 7% class
students 1s to

2 Explain through diagrams
2, Define parts of flower and show them
3. Ask students to observe parts of flower in different

flowers and tell the details

4, Give a lecture about the parts of a flower.
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The concepts. hypothesis developed in the class room are
validated in this method

i Heuristic method
2, Project method
3. Laboratory method

4. Assignment method
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‘Performing a drama’ is an example for this project
1 Consumer project
2. Producer project

Drill project

(S ]

4. Pl‘oplem type project
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In Bloom’s Taxonomy ‘evaluation” is at top order where as in
revised classification, this is at top order.

1. Analyzing

2. Executing

3. Creating

4. Synthesizing
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Teacher explains about this while teaching “yellow revolution’
1. Pisciculture

2 Milk production

3 O1l seeds

4, Orchards
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This teaching pedagogy welcomes conflicts i children life
into classroom

i Idealistic Pedagogy
2. Critical Pedagogy
3. Organic teaching

4. Pictorial pedagogy
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The term library is derived from this Latin word

1. Lebar
2. Libis
3 Libar
4, Labor
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In Multi sensorial teaching approach — VAKT, K-Stands for
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Instructions given in a question are complex and ambiguous.
This question does not have

1. Validity
2. Reliability
3. Objectivity

4. Discriminative pDWE‘l
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Weightage given for the academic standard. Asking questions
— Making hypothesis in summative evaluation 1s
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The Dutch educationist stated that rote learning should be
removed from education system is

(4 John Comenius

2. Desiderius Erasmus
3 Dwite Allen

4, Olive Morgan
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Identify mismatched pair

1. Comenius — Published a book on children’s Science
experiments
2. Rousseau — Remove unnecessary words in teaching

Froebel — Priority given for pictures in teaching

(8]

4. Montessori — Sensory organs are gateways of
knowledge
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One of the following evaluations is useful to know the
strengths and weaknesses of students before starting Teaching
Learning process

1. Formative evaluation
2. Peer group evaluation
3 Diagnostic evaluation
4 Self-evaluation

IR TS JQ9l 29 K0l Jeg AT gél Qe
6QI8 QISIQ1 IR T ARNYIAR F1UQ 66115~ QUEKIG! 216

1. CORIae gauge
2. 9AQ9S JRuIge
3. QQIQINR RIS
4. ql9 e

Options :

1. %1

2.% 2

3.3

4. % 4

Question Number : 145 Question Id : 3922664705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This is one of the limitations of Herbart approach in the
preparation of lesson plan

1. Activity based
2. Follow both inductive, deductive methods
*; More priority is given to teacher

4. Recapitulation
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This suggests certain tools and strategies followed by teacher
to make students to achieve general. specific objectives is
known as

1. Basic curriculum

2 Year plan

& Lesson plan

4. Unit plan
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According to Edgar Dale the following experiences have ever
lasting effect on learning

i; Visual experiences

2. Activity based experiences
3 Audio visual experiences
4. Auditory experiences
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This 1s NOT in the first step of period plan
1. Mind mapping

2, Demonstration - Discussion
3. Announcement of topic
4. Probing questions
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Correct sentence related to field trips

a. Using community resources
b. Bringing community to the class
C. Taking class to the community
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The word curriculum is derived from a Latin word

1. Curricula
2. Currere
% Curriculus
4, Curricurrer
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The 10 core elements in the curriculum was emphasised by
1. Radha Krishnan Commission

i Mudaliar Commission

(b

National Policy on Education - 1986
1. National Educational Policy - 2020
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Hunter score card 1s related to

L Intelligence test

2. Personality inventory

3. Interest inventory

4. Textbook evaluation tool
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First step in 5-E model of learning
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One of the following characteristics i1s NOT relevant to the
improvised aid

1. made of locally available material

2. Technical knowledge is required to prepare
3. Economically useful

4. less time 1s required
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Universal antidote is a mixture of
1. Charcoal. Magnesium oxide and Boric acid

2, Charcoal. Magnesium oxide and Tannic acid

Tad

Charcoal. Hydrogen Peroxide and Boric acid

4, Charcoal. Sodium Carbonate and Tannic acid
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The first aid to be given in case of acid burns in the science
laboratory

L. Wash with large amount of running water

I1. Neutralize with sodium bi carbonate

III. Neutralize with 1% Acetic acid

IV.  Wash with silver nitrate
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Conduct interview on plant and animal products is relevant to
this academic standard.

L. experiments, field Investigations
2. information skill. project work
3 conceptual understanding

4. concern to biodiversity
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Identify wrong statements regarding science
1. Arrests rational thinking

2 Promotes skepticism

fad

Demands Perscveralice

4. Dynamic in nature
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Discovering Covid vaccine 1s related to this Biological
Science value.

1. Utilitarian value
2 Moral value

3. Medical value
4

Cultural value
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The author of books ‘The Living and Non Living'. ‘The
Nervous Mechanism of Plants’ 1s

1. Birbal Sahni

2, Rosalind Franklin

J.C. Bose

Elizabeth Black Burn
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